21-021
EMEHETH

X 15 R E

il

SH6E3A

| & m

B

iz

a i3 1+

ln\i

HY

HEREA

2
P4 N3
R 1:1000 [mam=a—r] 21-021 [ om omom | zmmsE B o8 4 B E = 8 B B % 5| BP-1
b = @ m BREALS  gme
RALE
ﬂi 2& L=38.3 W=8.0(6.0)
/ | BUNES W=0 2n
\’: ih | "
‘ b aSs
7 A=80 2 m
//» N 0
.
k) 2 . % i
o \ pis [ ih
A X ,3 ‘T it i
\/:/7:: It 35
= = 7 ] . il
0 il
. = ’/ o m‘,; il 2 =
8 v 2 i 2
& ; N s f/ = E3 &
%, > il -
ST LT et
) ho'
N X ) Y R=160
FAR\SIANE > 'N% =
! AN ) * N
‘ N LN
SN v
4
é;\’\
R 9 L=379m W=9. 2m~36. 5m
RABER = $IRT K FIRAF KH1605-31h 5 i

0-7+29

RRFFIN/ £1421-345%

®mEES

fit ¥ @ B

TUNTFUUAD—F7 &R Ed

B o iR




22-204
187K B R #%

X 15 iR E

TURNTSTFUUAND—F 74 <A RNHE

Sl iz a 3

1

#% 6 % 3 A 1:1,00 | gga—§

ELLE

2204 | #EmAmH |

| m#wa |

Bk B R #%

=2

SAIES W=35 6m

A KE0-5+37

IMUUMBREE,

f-a]

juu;
R

e

///// T
NIVAHUR TR

S e

EMEES
X=

s

LI

aunus

X=-60652 (m)
Y¥=-60538 (m)

q
7
I

L=656m _W=9. 8m~35. 6m

X=-60363 (m)
Y=-60069 (m)

R
RAMEZHETKFRAFATE18-240 5

HEREA

%@ E S

it B %) B

i

TCoMEE. BRAMLPARROKLENT, ARASONRRRUNERRE
EALTABLELOTHS. RRER)WSI wa® 11 By

TURTSFUUA D —F 7 &R @t

Sl iz a 2

1

E B B

$M6%3A | BEMR | 11,00 | Bga—F 220 | mmAam | —mes

Eres

Bk B R #%

m |

|lmm&s| BP2

Wk W 1A il
Z il iy

KA2-2+30

X=-60, 152 (m)
Y=-59, 544 (m)

X=-60363 (m)

0069 (m)

L=656m_ W=9.8m~35.6m N .
RETRF K2 FHKEBT35-34#h 5%

1-4+6

HEREA

® @ E S

it B 2 B

i

TCoMEE. BRAMLPARROALENT, ARASONRRRUNERRE
EALTABLELOTHS. RRER)WSI wa® 11 By




22-289
fin £ LU R R

X 15 iR E

B iz =) e 1 X E B R
Wik A | eMe£E3A | W @ fF K| 1:1000 |mo—<| 22-289 | g R oA | —@BRE B B 4 S EEE [ ] ~ @ % % BP-
) i BAIEE 1=36 0n f“;:?;;:%
g s EnE 28 . @ -
- ) #oE
B =
BXE SNES W=12. 3m xoss o

7 1k 15 | A

0-0+0

| NS
¥~ N O
AT vn’:nnmnnnm.m.‘............a...‘

ER

5 & ?., 1
BAE . w o T =180
REAEHE KRESES T

L=650m W=12. 3m~36. Om

=¥X

66+6-0

R
HABERZ R A F i BF A R 264- 140 5%

=EREA

®mEEE

fit ¥ @ B

B oM iR

TUNTSFVUUAD—F 7 AR @AM

B

B

ln\%

Y

$%6%3A | W @ f | 1:1000 |mE=—F|  22-289

b
I
=
Jm
|

e £l R B OR

¥ & & |

BP-2

X=-55581 (m)

EHEES

X=-55578 (m)
Y=-63763 (m)

ERMEESI0
X=-55,091 (m)
Y=-63, 895 (m) % Bﬁ
E=133" 37"
50:704 N= 357 30"
ARME S E#mE
R=15

B |
__IZ@;?&E&E
L=650m_f=12. 3n~36.0m 2
°? ®a

EIMAR

=EREA

®mEES

fit ¥ @ B

B oM iR

TUNTSFVUAD—F 7 AR @EM




